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2.29 A 50 Q transmission line is matched to a 10 V source and feeds a load Z; = 100 2. If the line is
1.8% tong and has an attenuation constant o= (3,6 dB/A, find the powers that are delivered by the
source, lost in the line, and delivered to the load.

» Find both P;, and Py,. Analytic solution.

29=SOA o — p-y/gl —%_—g"
Uy = L2 + +
7 b =50 -
10l&V (L Ym i o. 6?6//' ,av.’: E’b »/&am]
rﬁ { -
r:n}?:"‘ ,1
o = 0.6 dE/) (2’;’/‘:';& 1) = 0.065078 "//

(2r0) )= Zﬁ = 4= 124

(2.8) ¥ = “t, R = (0. 067078 + 277) /A

2 - %o /00 - So _—

2 = — Smovaama—— -
(235) [Z = 31,‘*27’ = /C’t?-féc? o, 3’3cay s
| - 4 [

(la= o0 259754 g.ﬂ/y

Notes — IH’!,., /fa.zsﬁl_f?*’
¢ ) Za 7 % T-7.. =50 T -0.1597/1%%°

2, = 1.326 + 3 /10.26F
E?u!g/, In{«f Clrewe?

Son
Vo= —> ¥ B
/i@" Fe v i [B13284 10 267)
A

0 _ 0.12199/-21951° A

e ——————"L’-‘—"——.’
La = so7m3t334y 007

0
Vi = o 51‘3{3;33/? Zj’ = 4 0217//0.950C" v
| - 2+ J




EE 481/581 Microwave Engineering, 2 29 mod1.docx 2/2

(292) F., = % Me(Vin %)= S fle { h02l2%5 ° (o122 2495°)3
g = 023207 W

fin = 2
Vy He { Vo Z3a%S = 4 fle { 1ot (0,122 20557) 3
Ky = 060515 W

[Cl/éu IfS) /{/5 -

Use (2.99z), V/Z):M,*(e'&%'f}ﬂerij and Ua=V(E=-2)

fo ot W= o,0217 (2235.°
e o - ————

. = (00697 +527)1. 8
eﬁma?z 28 53 o 0

Ut = 4#1s¥/ 7LV
We Cam ,oe wm/“ﬁ (4 «Z
V. = /o) = 4,4)5%)72° (e—»/o,aﬁhj 217) 0 4553 e(o,oéw-; jzn)a)
V. = s.¢872)722°V

A V”/%L = 98872(22° _ o, 050070 (724

ree

for (2.95) £ = b Be(L TR K e §5:8072 22 oos0onel2)S
[ = 0/732%6 W/

ber (299), flo. = Fou-F. = 0.233/07 -0./7329%

Lree = 0059812 10/




